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3km=....... m
5000 m =............ km
3kmet500m-=................ m
8kmet750m=................. m
S5kmet3m=..nn... m
6540 m=......... km et ............ m
8126 m=......... km et ............ m
2000 m = ............ km
1285 m=............. Kmet........ m
7kmet27 m=...eeeeenne. m
...] 10

M2 - S sads ulillsen tes undtts de masse et corwenlsy .../ 10
3kg=..... g
4000 g = ............ kg
2kget500g=............. g
8kget760g=....ueeu.. g
dkget2g= e, g
6720g=............ kg et ............ g
8236g=........ kg et ............ g
2100 g = ............ kg et ........... g
1285 g =............. Kget........ g
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672cl = ........... let.......... cl
8236¢cl=........ let.......... cl
210cl=............ I

1285 cl = ............. | et........... cl
6let28cl=....uue.... cl
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M5 - e sads wliliser los wumilds de capuacité et corwerlly .../ 10




